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That number was n and a natural number, replace each digit of n numbers m. (M > n)

Each digit of the difference between m, from n plus. So far was able to L . L digits numbers and happy.

Repeat this process, 1

Continue until the digits. Then, the 1-digit number would always 9.
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HHEREE N L L, n OFHOETE NIVEZ TTEIHT2mET 5, (n)
nNHmMAEL|WEEOEHOET, TEIEEL &5, L OFHOETER L TN,
ZOVEEAEVIRL, 1M ETHT D, T5&, ZO 1HOEIINT 92725,
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BFEFHRTNHT, 1 HOKR (@9 723T Ry
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b, WFEL LD o7,

WAL, BOOEFER H%E 8HRE5,
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W2, ODOEFEW~EZTH E DLV /S
1BV, FnozEEHT,
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3HIOHE 100a + 10b + ¢ (adbde ) E9°5,
DLV /ST,
100b + 10a + ¢ / 100b + 10c + a
100c + 10a + b / 100c + 10b + a / 100a + 10c + b
ZO5) THD,
Bz, 100b + 10a + c D& X,
b 1206, REWHMHD/ASWEEFIL &,
100a + 10b + ¢
—)100b + 10a + ¢
90a - 90b
90a - 90b = 90(a - b)
ab XV, (@ -b)>0 THD,
90 1% 9 DRFELARDT, 90(a—b) 139 DIFETH 5,
7z,
100a + 10b + ¢
—)100b + 10c + a

100a + 10b + ¢
—)100c + 10a + b

99a — 90b — 9¢ 90a + 9b — 99c
=9(1la—10b—¢) =9(10a + b — 11c¢)
avbre L1, ab>e L0,

(11a — 10b — ¢)>0 (10a + b — 11¢)>0

Ko7, EBEHHL9DEKIIRD LoT, 9DfEK
2725,



L7,
100a + 10b + ¢
—)100c + 10b + a

100a + 10b + ¢
—)100a + 10c + b

99a — 99¢ 9b — 9¢

=99(@ — ¢ =90b - ¢)
ae £, b>e X0,
(a—c)>0 (b —¢)>0
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100a + 10b + ¢ = 9d (d IZEZED

(99a +a) + (9b +b) +c=09d

99a +9% + (@a+b+c) =9d
(@+b+c)=9d—99 — 9%

=9(d - 1la — b)
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) 3846 + 1502 = 5348

( FEROEETH )

3+8+4+6=21 = 2+1=3
1+5+0+2=8
THERIRLT,
3+8=11 = 1+1=2
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5+3+4+8=20 = 2+0=2
£oT, MNEIRIT 5,

B, s
f5l) 5682 - 2512 = 3170
( FE5ODOBEAR )

5+6+8+2=21 = 2+1=3

2+5+1+2=10 = 1+0=1
3-1=2

( ALOETHR )

3+1+47+0=11 = 1+1=2

£oTC, BIRIHOLT D,

C, ik
) 3564 X 1354 = 4825656

( LEDOETHR )
3+5+6+4=18=1+8=9
1+3+5+4=13=1+3=4
9 X 4=36 = 3+6=9



( ALK )
448+2+5+6+5+6=36=3+6=9
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QIR DD L&
i) 9357 <+ 2358 = 3 --- 2283
& 2358 X 3 + 2283 = 9357
EHTOBTARIT 9 X 3+6=6
( fELOHFHR ) 27 + 6 = 33 3+3=6
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